Writing Exposition in Physics
Learning Task 3c_EX: Apply Backward Reasoning approach to arrive at  an answer to the question below.
 (Source: 2013-DSE-PHY-1B-Q10c(ii))   (Only need to respond to part 10c(ii))
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	BR Steps
	Referring to the Question

	1. State the subject matter to make judgment on
	

	2. State the relevant Physics knowledge
	


	3. Apply the knowledge to the question
	






	Write the answer in Exposition format
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10.  (a) Inthe circuit shown in Figure 10.1, a 12 V battery of negligible internal resistance is connected with a
thermistor R and a resistor of resistance 120 Q. The graph shows the variation of the thermistor’s

resistance with temperature.
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(i)

The potential difference ¥p is used to drive an electronic
switch connected across 4B to turn on a fan if temperature
rises above a certain value such that ¥,z is 6.0 V or above.
Using the information provided in the graph, find the
minimum temperature needed to keep the fan on. Show
'your working. (2 marks)

‘Without using additional components, complete the new

circuit diagram below to illustrate how the circuit can be

modified to turn on a heating device when temperature

falls below a certain value. Explain the action of the

circuit. No calculation is required. (3 marks)
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